Trade: Private Security							
Sr. No.	Name of Equipment	Specification	Images of Tool and Equipment	Quantity	Approx Price Per Unit	Total	
1	Alarm Panels	Product - 25D x 10W x 26H Centimeters, Color - White, Must be branded and under warranty, Item weight - 2000 grams, Body material - Mild steel	CONTROL OF THE PARTY OF THE PAR	1	5000	5000	
2	Batons	Self defense walking stick (pack of 2), Color - Transparent, Item weight - around 400 grams, Must be water resistant and weather resistant		1	500	500	
3	Safety boots	Good Quality high Ankle fine Material Safety Shoes with Good Bond Strength.100% rexcine   Waterproof  Puncture Proof  Anti- Skid		10	500	5000	
4	Outdoor camera	Day/Night vision outdoor bullet camera with warranty		4	2500	10000	
5	Digital Video Recorder	Branded 1080P Full HD 8 Channel Digital Video Recorder. with warranty	**************************************	1	5000	5000	
6	Hard Disk	Branded internal hard disk with 1TB memory under warranty	Ire and a second	1	3000	3000	
7	Wire	Branded 3+1 Coaxial Pure Copper CCTV Camera Cable (90 Meter) with warranty		1	1500	1500	
8	Clock	Color - Pearl White, Display type - Analog, Silent clock, Dimensions - 32W x 32H Centimeters	-9 3- -8 7 6 5	1	300	300	
9	Dome Camera	2MP Full HD Smart Wi-Fi CCTV Home Security Camera, 360° with Pan Tilt, View & Talk, SD Card (Upto 128 GB), IR Distance 10mtr, infrared LEDs and night- vision technology, Wireless	PARCE SALVE	2	2000	4000	

10	Door Frame Metal Detector (DFMD)	Constructions: Polished wooden frame, Arch size: 220x90cm, Clearance: 200x75cm, Power: 220 V AC mains, Detection Level: 16 levels to indicate the volume of metal passing, Environmental:- 10°C to +50°C. Up to 95% RH, Weight: 30 Kg - 35 Kg		1	25000	25000
11	Duty Uniform (Male)	Color - Dark Blue, Material - Polycotton, Machine wash, Size L, Set of shirt, pant and cap	Company Math	4	1200	4800
12	Duty Uniform (Female)	Color - Dark Blue, Material - Polycotton, Machine wash, Size M, Set of shirt, pant and cap		4	1200	4800
13	Emergency Flood Lights	Color - LED, Material - High Lumen output 100lm/W, Light fixture - Floodlight, Energy Efficient, High Surge Protection upto 6kV, High Efficiency, IP66 and IK05 protection, Finish type - matte		1	1500	1500
14	Emergency Warning Lights	Color - YELLOW LENS Police-Revolving- Light, Waterproof, Produces 60 flashes per minute with a permanent magnet low noise motor, Lens and base are both made of strong ABS plastic		2	1000	2000
15	Fire Extinguisher (5 KG ABC type)	Carbon steel ABC dry powder type (5 Kg)		1	1500	1500
16	First Aid	Branded first aid kit with all general purpose items i.e.betadine,micropore,bandage,bandaid,d ettol,pcm,painkillers etc.		1	1000	1000
17	Hand Held Metal Detector (HHMD)	Battery-Nickle Cadmium rechargeable 4.8 V,Battery charger-Works on 220V AC 50 Hz,Indicators-Audio Alarm, on/off switch to save battery. Weight - 700 grams, Adjustable length, IPX5 rating		2	2500	5000
18	Handcuffs	Color - Silver, Key unlock, Lock type - Key Lock, Dimensions - 11.5 x 8.5 x 2.7 Centimeters, Material - Steel		2	500	1000
19	Signs	security sign means a sign that identifies or warns of the security system for the premises.	Fitt	2	250	500

20	Public Address System	Small shoulder hung, electronic system comprising microphones, amplifiers, loudspeakers		1	3000	3000
21	Rope	Rope 10 mm & 15 mtr used by rock climbers		1	1500	1500
22	Safety helmets	Color - Yellow, Weight - 300 grams, Material - High Density Polyethylene		5	400	2000
23	Security Guard Belts	Closure type - Buckle, Material type - Nylon	SECURITY	10	150	1500
24	Smoke Detectors	Power source - Battery, Color - White, Weight - 220 g, Sensor type - ionization		5	800	4000
25	Specimen Identity Card	Blue threads, plastic holders.visitor cards/ID cards	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	5	100	500
26	Torch Light	Light source - LED, Material - Plastic, Battery powered	35.04	2	450	900
27	Two Way Radios and Chargers	Branded/Original wireless walki-Talki with minimum 3 Km Range without repeater 16 channel key pad, display, on/off and volume switch, PTT switch, antena, charger, removeable battery and belt clip. (under warranty)		2	6000	12000
28	Under Chassis Inspection Mirror (UCIM)	Specification- Telescopic rod with clean mirror (1Ft X 3 Ft) and four caster wheels with torch (2 cells). Color - Black, Frame material - Rubber		1	2500	2500
29	LED Monitor	Branded 53.5 - 55.5 CM Liquid Crystal Display LED Panel or Monitors (21.5 inch (54.61 cm) IPS LED Backlit Computer Monitor - Full HD) - with warranty		1	7500	7500
30	Wired Branded Keyboard Mouse Kit	USB (Full Size) Wired Keyboard & Mouse Combo(Black) with numeric keys.Compatible with latest window version - with warranty		1	1000	1000
31	CPU (Central Processing Unit)	12th Gen Intel Core i5-8GB RAM/1 TB HDD/Windows11/MS Office 2021/Integrated Intel UHD Graphics/WiFi 5/Bluetooth 5.0 (with 3 years warranty)	DQL	1	40000	40000

32	Printer	Branded multifunctional laser printer (Max Print resolution(Mono)600X600 dpi,Print Speed mono-18 ppm, Duplex Mannual, Input Tray Capacity minium-100 pages, Scaning Speed - 10 Sec, Copy resize-30%- 40%, Copy Resolution 600X400 dpi, Copy Speed Mono-18 cpm) with warranty		1	12000	12000
33	Fire Buckets with stand	Iron made fire buckets (4 Nos) with iron stand.	TIRE FIRE	1	3000	3000
34	Stretcher	Branded Foldable Stretcher with Safety Belt (Dimensions: 6ft*2ft)		1	2500	2500
35	3 in 1 Wire Stripping Tool	Branded self Adjusting Wire Stripper/Wire Crimper/Wire Cutter - 3 in 1 Automatic Universal Wire Stripping Tool		1	700	700
36	Axe & Hammer combo	Good quality axe with Hammer 2 Pcs Combo Set.(566 Gram Axe with Steel Shaft Handle + 226 Gram Claw Hammer with Steel Shaft)		1	1000	1000
37	Iron Pulley	2000kg Heavy Duty Single Rope Pulley Swivel Lifting Hook with Latch		2	1500	3000
Total					180000	